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I. Vocabulary (10%)
For each question, choose the word that best completes the sentence.
1. After the big earthquake, the police         the village for safety concerns.
	(A) assaulted
	(B) evacuated  
	(C) indulged
	(D) originated


2. The gorge is famous for its scenic ______. 
	(A) splendor
	(B) sprint
	(C) strain
	(D) strand 


3. The personnel manager will interview _______ employees tomorrow.
	(A) disposable
	(B) eternal  
	(C) prospective
	(D) spacious


4. The ________ at the basketball game got excited whenever the team scored.
	(A) couriers
	(B) supervisors  
	(C) spectators
	(D) consumers


5. What is considered beautiful is ________ and varies around the world. What one person finds attractive may be unattractive to another.
	(A) subjective
	(B) dubious  
	(C) indifferent
	(D) objective


II. Grammar (10%)
For each question, choose the words that best complete the sentence.
6. Not until the age of fifty ________.
	(A) Anita married
	(B) Anita did marry

	(C) did Anita marry 

	(D) did Anita not marry


7. More than _______ students will graduate from the school this year.

	(A) two thousand
	(B) three hundreds

	(C) second thousand 

	(D) third hundreds


8. I wished Mr. Reed ________his secretary about the deal.
	(A) won’t tell
	(B) didn’t tell

	(C) doesn’t tell 

	(D) hadn’t told


9. The first school for the blind ________ in 1785 in Paris.
	(A) has founded
	(B) which has been found

	(C) was founded 

	(D) is being found


10. Tom stayed inside all day, _____ computer games.

	(A) reading and played
	(B) reading and playing

	(C) read and play 

	(D) read and played


III. Reading Comprehension (20%)

A: Questions 11-15

The beavers work hard to make their house. They cut down trees, gather branches and twigs, and put them together with mud. Most of the summer is spent in this kind of work, but in the winter the beavers’ work proves worthwhile. Their house protects them even from bears. The beaver is related to other rodents, or gnawing animals, such as rats, mice, and squirrels. An adult beaver may weigh more than 50 pounds, and its body may be about three feet long. Its hind feet are webbed, which helps it swim rapidly. The beaver has two huge front teeth. These teeth are always growing, and it must keep them sharpened by constant use. People attach great value to the beaver because of its fur. The beaver has practically disappeared from Europe because fur hunters and trappers killed so many beavers for their pelts. The beaver might easily have become extinct in America, too, but laws were passed to protect the beavers before they were all killed. The beaver likes family life, and lives with the same mate all of its life. Several young – usually two to five – are born every year. The whole family lives in the same mound, or lodge. Generally there are several lodges in the same area, and the beaver families help each other in their community life. They share the work of building dams, constructing mounds, and raising the young. Beaver dams help people because they prevent floods and make irrigation easier. It is fortunate that these animals have not been allowed to disappear completely.

11. According to the passage you have read, which of the following best describes beavers?

(A) Hunters of the forests 

(B) Engineers of the woods 

(C) Farmers of the lands

(D) Fishermen of the streams

12. The main purpose of this reading is _____. 

(A) to inform readers of beavers’ family lives 

(B) to entertain readers with beavers’ appearances 

(C) to persuade readers to observe beavers carefully

(D) to provide readers with detailed information about beavers

13. Beavers have become extinct in Europe because _____.
(A) many beavers were killed for their fur
(B) their dams can not protect them from enemies
(C) the weather were too cold to survive in Europe
(D) beavers like community life which is easily attacked by bears
14. The underlined word gnawing from the passage could be replaced with _____.
(A) building

(B) amphibious  

(C) chewing 

(D) webbed

15. According to the passage, the author implies that _____.
(A) the practice of using fur from animal skins to make fur coats is a global trend
(B) beavers can be used to help humans to build houses
(C) beavers are helpful to humans and should be protected by laws
(D) beavers should be protected because humans can make good use of their pelts
B. Questions 16-20
     Obesity is problematic not merely because of the extra pounds. It also boosts a person’s risk of cancer, diabetes, and heart disease. Recent studies show that obesity also results in problems with memory, think, and reasoning. 

     Health experts define obesity using scale called the body mass index, or BMI. It is a math calculation that uses height and weight. If a person’s BMI is larger than 30, then that person is considered to be obese.

     Earlier studies have found a relationship between obesity-related diseases and cognitive problems. Specifically, they reported that obese people with heart disease or high blood pressure tend to score lower on memory, thinking, and reasoning tests than did people who did not weigh as much.

     Recently, a study has been conducted by John Gunstad, a psychologist at Kent State University in Ohio, to find out if obesity causes the lower scores on cognitive tests. In the study, 150 obese people were recruited to take a series of cognitive tests. He found that, in generally, the obese participants’ scores were much lower than those of healthy people. After the initial tests, 109 of the obese participants underwent a surgery that helps them lose weight. Twelve weeks after the surgery, the participants lost about 50 pounds each. They were then tested again. The results indicated that the patients who had lost weight scored higher on the cognitive tests. That was not the case for people who had not lost weight. As a matter of fact, they did even worse on the second round of the tests.

     To further understand the cause for the connection between obesity and brain function, Gunstad ran another study using magnetic resonance imaging (MRI) to study the nerve bundles that shuttle information through the brain. The nerve bundles are surrounded and protected by a white, fatty substance. He found damage in this protective outer coating in obese people’s brains. He claimed that the damage could be a problem for signals trying to get from one place to another in the brain. In his conclusion, Gunstad further claimed that being obese can damage the brain, especially the parts of the brain most important for paying attention and learning new things. This could make it hard for obese kids to do their best and get good grades in school.

16. According to the passage, the word “obese” can be best replaced by _____.
(A) hyperactive  
(B) overweight  
(C) passive  
(D) untidy

17. According to the passage, the word “boost” can be best replaced by _____.
(A) drop   
(B) mediate    
(C) raise    
(D) savage

18. According to the passage, which of the following is NOT a reason for claiming that obesity is problematic?

   (A) Obese people have extra pounds.
   (B) Obesity increases risk of heart diseases.

   (C) Obesity causes problems with memory.

   (D) Surgery cannot help people lose weight.

19. Based on the findings of Gunstad’s studies, what will he recommend to protect kids’ brains?

   (A) Getting involved in thinking more often.

   (B) Avoiding having heart diseases or high blood pressure.

   (C) Receiving MRI examinations.

   (D) Maintaining a healthy weight.

20. Which of the following is the best title for this passage?

   (A) Reasons for kids’ bad test performance in school.

   (B) Why obesity leads to problems with cognition.

   (C) Ways to lose weight effectively.

   (D) How to define obesity.

Ⅳ. Translation (10%)

1. 學習語言是了解一個國家文化的一種重要方式，也是為了未來學習與工作做準備。

2. 小時候我就對環遊世界有興趣，從那時起，我就下定決心要當導遊。
不得使用計算機或任何儀具。
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